BEREHRE=2)T RIFEEB/1~8/31)

By Gy/h=p Sv/h
A H BIERZ | ERTEE| KBITEE | ZBRITEE | sHREEE| BHEMR | B =

17~ 18HtE 0.15 0.18 0.47 0.86 0.31

8A31H 11~128tE 0.14 0.19 0.51 0.84 0.32
7~ 8HFLE 0.15 0.18 0.53 0.89 0.34

17~ 18RtE 0.14 0.19 0.46 0.86 0.30

8H30H |11~128tE 0.13 0.19 0.47 0.87 0.31
7~ 8RFLE 0.15 0.20 0.53 0.84 0.32

17~ 18H5tE 0.14 0.18 0.49 0.88 0.32

8H29H 11~12FtE 0.14 0.19 0.49 0.83 0.32
7~ 8HFLE 0.14 0.19 0.51 0.91 0.34

17~ 180tE 0.14 0.18 0.51 0.90 0.32

8H28H |11~128tE 0.14 0.18 0.52 0.89 0.32
7~ 8RFLE 0.14 0.18 0.51 0.89 0.34

17~ 18H5tE 0.15 0.18 0.52 0.92 0.31

8H27H 11~12FtE 0.15 0.19 0.51 0.78 0.31
7~ 8HFLE 0.15 0.19 0.46 0.84 0.30

17~ 18RtE 0.15 0.20 0.52 0.90 0.33

8H268H |11~128t8 0.13 0.21 0.50 0.80 0.34
7~ 8HtE 0.14 0.20 0.46 0.88 0.32

17~ 18H5tE 0.14 0.18 0.50 0.86 0.30

8H25H 11~ 1288 0.14 0.19 0.50 0.89 0.31
7~ 8HFLE 0.12 0.18 0.47 0.85 0.26

17~ 18RtE 0.14 0.19 0.50 0.86 0.29

8H248H |11~128t8 0.14 0.20 0.50 0.89 0.32
7~ 8H§tE 0.14 0.19 0.49 0.90 0.33

17~ 18RtE 0.14 0.19 0.49 0.87 0.30

8H23H 11~ 120FtE 0.14 0.18 0.53 0.89 0.32
7~ 8HFLE 0.13 0.19 0.45 0.88 0.30

17~ 18FftE 0.13 0.20 047 0.91 0.33

8H22H 11~ 120FtE 0.15 0.19 0.54 0.69 0.33
7~ 8HFLE 0.16 0.19 0.44 0.87 0.30

17~ 18H5tE 0.14 0.19 0.52 0.86 0.33

8H21H 11~120FtE 0.15 0.19 0.52 0.92 0.32
7~ 8HFLE 0.14 0.19 0.48 0.86 0.30

17~18KtE 0.14 0.18 0.51 0.91 0.33

8H208H |11~128%8 0.15 0.19 0.46 0.88 0.32
7~ 8RFLE 0.14 0.19 0.54 0.86 0.33

17~ 18HtE 0.14 0.22 0.51 0.87 0.32

8A19H 11~120Ft8 0.14 0.22 0.51 0.84 0.30
7~ 8EFLE 017 0.21 0.50 0.86 0.31

17~ 18HtE 0.14 0.20 0.45 0.89 0.31

8H18H 11~128%t8 0.13 0.18 0.53 0.90 0.33
7~ 8RFtE 0.14 0.19 0.48 0.93 0.32

17~ 18H5tE 0.13 0.19 0.53 0.88 0.33

SA17TH |11~128tE 0.14 0.19 0.46 0.86 0.30
7~ 8EFLE 0.14 0.19 047 0.94 0.31

17~ 18HtE 0.13 0.17 0.47 0.88 0.33

8H16H 11~128%t8 0.14 0.21 0.49 0.87 0.32
7~ 8HFLE 0.14 0.19 0.53 0.91 0.31

17~ 18H5tE 0.15 0.21 0.46 0.74 0.30

8A15H |11~128tE 0.14 0.20 0.50 0.89 0.33
7~ 8EFLE 0.14 0.19 0.51 0.97 0.31
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BEREHRE=2)T RIFEEB/1~8/31)

By Gy/h=p Sv/h
A B BIERZ [ERTEE| KBTRE | HRITERE | AHREEE| BHEHR | F %

17~ 180FEE 0.15 0.20 0.50 0.94 0.30

8H148 |11~12/8k8E 0.13 0.14 0.50 0.89 0.33
7~ 8HFLH 0.14 0.18 0.45 0.88 0.31

17~ 1805LE 0.14 0.18 0.51 0.94 0.30

8H13H |11~12Ft8 0.13 0.20 0.38 0.86 0.31
7~ 8HtE 0.14 0.20 0.51 0.96 0.32

17~ 180FEE 0.15 0.20 0.49 0.87 0.32

8H128 |11~12/t8E 0.14 0.20 0.48 0.87 0.32
7~ 8HftH 0.14 0.19 0.49 0.89 0.33

17~ 1805LE 0.14 0.20 0.54 0.89 0.32

8A11H |11~12Ft8 0.17 0.17 0.49 0.93 0.32
7~ 8HtE 0.14 017 0.51 0.95 0.34

17~ 180FEE 0.14 0.19 0.50 0.92 0.31

8H108 |11~12/tE 0.15 0.18 0.51 0.90 0.32
7~ 8HFLE 0.15 0.19 0.47 0.88 0.32

17~1805LE 0.12 0.20 0.49 0.91 0.32

8H9H 11~ 120588 0.12 0.18 0.46 0.92 0.32
7~ 8EFLE 0.16 0.19 0.53 0.87 0.32

17~ 180FEE 0.15 0.20 0.47 0.92 0.31

8H8H 11~120tE 0.15 0.18 0.46 0.91 0.30
7~ 8HFLE 0.14 0.21 0.52 0.85 0.33

17~1805LE 0.14 0.20 0.56 0.95 0.33

8H7H 11~ 12058 0.14 0.19 0.49 0.94 0.31
7~ 8EELE 0.14 0.19 0.53 0.96 0.37

17~ 180FEE 0.14 0.18 0.51 0.90 0.32

8H6H 11~12FtE 0.14 0.19 0.50 0.90 0.32
7~ 8HftH 0.14 0.19 0.47 0.88 0.31

17~ 18HtE 0.14 0.19 0.46 0.83 0.28

8H5H 11~12058 0.14 0.23 0.43 0.77 0.30
7~ SHftE 0.15 0.23 0.49 0.89 0.32

17~ 1805EE 0.14 0.24 0.41 0.82 0.29

8H4H 11~128tE 0.15 0.24 0.46 0.82 0.30
7~ 8HFLE 0.15 0.24 0.44 0.85 0.30

17~ 18HtE 0.14 0.24 0.45 0.89 0.31

8H3H 11~12058 0.15 0.24 0.47 0.83 0.31
7~ SHftAE 0.15 0.24 0.38 0.82 0.31

17~ 1805LE 0.14 0.24 0.45 0.87 0.29

8H2H 11~128tE 0.15 0.24 0.49 0.86 0.33
7~ 8EFLE 0.16 0.24 0.50 0.88 0.29

17~ 180FtE 0.15 0.23 0.50 0.85 0.31

8H1H 11~1205L8 0.14 0.24 0.49 0.84 0.29
7~ 8HFLE 0.15 0.24 0.47 0.86 0.30
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